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1.In an IBM Sterling Order Management deployment, the LDAP authentication will be implemented as a 
web service call against theEmployee Active Directory. 
Which is a valid property for this LDAP implementation? 
A. yfs.yfs security Idap user 
B. yfs.yfs.security.ldap.authenticator 
C. yfs.ldap.authenticator 
D. yfs.yfs.security.ldap.uri 
Answer: D 
 
2.Which three operations can be performed in IBM Sterling Business Center (SBC) out-of-the-box? 
A. The System Setup Administrator can configure purge retention days for returns. 
B. The Item Administrator of a sub-catalog organization can define seller entitlement rules. 
C. The Inventory Administrator of an organization can update the 'Inventory Segment' rule. 
D. The Pricing Administrator of a sub-catalog organization can create new price lists. 
E. The Customer Administrator can define and manage customer entitlements. 
F. The System Setup Administrator can upload items with attributes and assets. 
Answer: C,D,F 
 
3.In aproduction environment, agent server JVM has crashed due to an out of a memory error on the 
agent machine. Agent server JVM is configured to run with 5 threads. At the time of the crash, 5 different 
records are being processed by the agent server JVM and 1707 more records are present in the 
non-persistent JMS queue to be processed Agent server JVM is re-started after increasing the memory. 
Which statement is true? 
A. Agent will start processing the 5+1707 records; agent re-trigger is not required 
B. Agent will start processing the 5+1707 records; agent re-trigger is required 
C. Agent will start processing the remaining 1707 records; agent re-trigger is not required 
D. Agent will start processing the remaining 1707 records; agent re-trigger isrequired 
Answer: A 
 
4.Which configuration option is INCORRECT when dealing with external availability in document specific 
fulfillment rules? 
A. Do not validate reservation ID externally during order line reservation creation 
B. Do not check external availability during release 
C. Do not check external availability during schedule 
D. Do not check external availability during reservation 
Answer: D 
 
5.As part of implementation, it is required for return orders createdagainst a sales order to have the value 
of an extended database attribute of the YFS_ORDER_LINE table. At the time of return creation, this 
attribute must be copied from the sales order onto the return order. 
How can this be accomplished? 
A. In the attribute entity definition for the extended database attribute, set CopyToRelatedOrders = ‘Y’ 
B. Add the attribute to the Default Derived Order template under Process Type Details for the Order 
Fulfillment process type 
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C. Extend the createOrder API template for the return order document type to include this attribute. 
D. Add the attribute to the template in the configuration for the include in Return transaction under the 
Others tab 
Answer: D 
 
 


